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— MR 9 29I WKW 2T
Did he say; to something which does not exist

OVERVIEW

The X713 assumes that it is more difficult to be 71pn to a 27w X2 XYW 127 than to
be 73pn something which is 07192 X2 X2, Our Mo0IN explains what this assumption
1s based on and how it applies to »"".

— OYIYY X2 NIV 927 NIPM DN N9 MINT 'NNMP NN 297 NN NOND
This discussion (which states that it is easier to be 717 a 27w 82 XPW 127 than to
be 71pn to a 9"25w7), is according to 1177 29 who maintains that a person can be

7IPn a »''abvwy -
— 0YYY N2 NIV 939D XD

But he cannot be 71pn to a ' abw7 -

mdoIn proves the abovementioned according to X117 27:
— 92 MNY D152 19N OLIYY INAWN 25‘.7‘1 M99 %2 9T NN (x8 mn) NAY NYNNLY

For in 7729 nwKa P99, we find that X177 27 maintains regarding the fruits of a

tree, that once the fruits exist he cannot recant (this is a case of ?"25w7 73pn) -
— PP NY 1ONWIY N 92195 NOINNT RIN 29 MNP (8,207 97 8Ina xa3) HNIY 21 99929

In nnw 2 P95, however, X117 29 rules that one who grants something to a fetus,

the 22 does not acquire it even after the woman gives birth to the child (this is a
case of 2"25w7 nipn), proving that 5"2%WwW72 "1pH DIR PX.

mDdoIN presents an opposing view (to X177 27):
— PP 1ONWAY BNN DY HNRT NN 2979 NIIIN %1 1IN 29)

And 3212 29 maintains the opposite of X117 29, for 1" maintains there (by the

72w), that when she gives birth the 712w/child is 732 (indicating that 5"2%wT> 73pn 07X)
— 2 MNY 9125 B9IYY INAWN N 1N 29 NP (X,)8 N2 N9 NYNND)

In 7729 7wR" 270, however, y2m 21 rules (regarding the p7 NM7°d) that even after
the trees bore the fruit, he may retract, indicating that 5"25w7 73pn X"X.

" The ruling of w"nyn was stated by (21 5x) X177 20,

2 X197 20 rules there that if someone sold the future fruits that the tree will bear (he may retract the sale before the
tree bears fruit, however), after the tree bears fruit he cannot retract and the sale is valid. This indicates that he
maintains 2"25W7 73pn QIX.

3 X217 27 maintains that it is more important that the recipient exists (than that the item exists), while 1" maintains it
is more important that the item exists (than that the recipient exists). See (end of) footnote # 7 and ‘Thinking it over’
#1.
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NN asks:
— 09YY N2 XYY 9329 MIPN OINT NN 2499 1Y 129NV NI*NN 9NN ON)

And if you will say; and from where do we know that 2''9 maintains that 27N

b abwT MmN -
- “PUNPN S9INNYNYI Y9INNY INNRY (3,58 ov) 2INPT NIDNN 1990

It is from that ®n»93 which states if a man says to a woman, ‘you are NWTIPn to
me after you will convert (she is now an 0"5Y) or after you will be freed’ (she is

now a N°I¥12 7ndW) the rule is that if she converts or is freed she is PWTIPR to him; so -
— 0YIYY N2 NIV 939D NIPN DTIRT 99 192¥NY NN NINNIN

From that very same Xn>92 we also know that »"'25w7% 7172 27X -

— SRUTDNT 9INNYNRY INNY 9INNRY INNY 230D NNT
For the 8ns"2 states if he says to a Jewish woman, be n17pn to me after I will
convert or after I will be freed (he is an °1v12 72V), she is nwTP»2 to him. Why does
our X1 state that according to »"7 we may only assume that "2%w7 71 078, but not 73p» QTR

9"25w79, when the same Xn»92 that states that »"3 maintains 2"25W7 73pn 07X also states that DX
2"25WTY Ipn.

Mo0IN answers:
— 9INYI 792 DMIDINNY NIN ODIYA 1NN T D2910 72T 9D YN

And one can say that an 2"y and a slave are a»wa, they are just lacking the

process of n17°3 and MW -
— *955 pYIYa 113NY9T DIT91Y 1197 KDY

And they cannot be compared to unborn children, who do not exist at all.

mooIn anticipates the following question:
— 199591 RJY IPT 7959 INMI 2290 NIPN DTNRT NI 199957 2) HY 9N)

And even though we derive from this Xn»72 that »'"9 maintains regarding

b»7 N0 that map» 278 a 9"25w7 and we do not distinguish and say that the 2">2y
oWy who is being acquired is 07w3, however the 727 M7 are not 072! Why do we make the
distinction only regarding 5"25w27%, but not regarding a >"25w7?!

mooin replies:

* This is a case of a 9"29w7; for the woman (in the process of 7w17°p) is 11pn herself to her husband (she belongs to
him and no one else). However the item that she is being m1pn (namely herself) is not 221w3, for currently she cannot
belong to him until she is 7»n» or AInNWA.

> This is a case of 2"25w7> 71pn; for the man is the one who is 717 the 7wx, and currently he is not 2?72 since in his
present status he cannot acquire her until he is 77 or VINWA.

% Therefore even though »"7 maintains that if the 7251 0"12¥ say TIANWRYY 30X XY she is NwTIpn, that does not
prove that 9"25w7% 71pn 07X, for the man does exist presently.
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— (3,20 PYITP) MINT APY? 12 NYIN 2297 NPNVIVI NPT 92917 1D HPRT DIVN 19N
That is because we can say that »"7 follows the view of 5''289 who maintains -
— PYITNN I NNIY MY DY NN PN 71"\:11'\)3 N ANIY M9 9MMIND

One who says, ‘the produce of this row which is still growing shall be 721n
for the produce of this other row which was harvested -

NP 19927 IWINM YWY INYIWAY
When the growing row will reach (at least) a third of their growth, and will be

harvested’;8 his words are valid, and they become 7m0 for the other row which was
harvested previously.

SUMMARY
X117 27 and jnm1 27 have opposite views as to where it easier to be 71pn, either a
2"25wT (7"), or 2"2%wT? (3"1). We find that °"aRA clearly maintains "27w7 mapn.

THINKING IT OVER

1. Why did not ="K answer’ that he follows the view of am1 212"

2. How is the case of wow w°2w>% (in which the M7 are at least sprouting)
similar to 57 n17°0 (which do not exist at all)!'?

7 Produce which is growing is not 2™ in 7m7n and cannot be set aside as 7mn. Produce which did not grow a
w9W is not considered produce at all. The m70 of the 12 wAR 1w AMY are not considered Mm% at all. They are a
5"2%w7, and nevertheless "ax1 maintains that they can eventually become 71170, proving that 2"25w7 73pn 078, Once
we know of a Xin who clearly maintains that 5"2%w7 mpn 078 we can assume that 11, who maintains by the nnow
that she is *1nnwnw R? nwTPn indicating that n"1 maintains a similar (albeit not the exact same) ruling, he may
also maintain that even if it is completely 229> X2 X? like by %P7 N7 (or 737y M%) one can also be 7Ipn it even
though it is a 9"27w7. However regarding 7"27w7> where we do not find explicitly that any Xin maintains that o7&
S"2%wT? MIpy, therefore we may not infer from the fact that 1" maintains by an 72y that she is 1 INWRY NR? NWTIPNH,
that 5"25wT% 7Ipn OR, since the 72y is 07Wwa (and is different from an 921w who is not 09w32). [In addition since we
are following here the view of X117 27, who maintains that it is more difficult to be ?"25w7> mipn that a 5"2%w,
therefore it is easier to make the transition from the ruling of n"1 regarding a 5w (a ?"2%w7) to %P7 M», than to
make the transition from 72y (which is a case of 9"2%w7%) who is 09212 to 07211 who are not 07w31.]

¥ The words of Ww>n™ w*>w W2°wab are part of his statement.

? See footnote # 3.

' See n"ma and 2w M >,

"' See n"ma.
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